Foundations of Algebra Unit 6: Systems of Equations & Incqualities Notes

|
| Real World Applications of Systems

Scenario 1: The admission fee for the county tair includes parking. omusement rides, ond odmission 1o ol
commercial, agricultural, and judging exhibits. The cost for generol admission is $7 and the price for chilkdren is
$4. There were 449 people who attended the tair on Thursday. The admission fees collected amounted o
$2768. How many children and adults attended the fair?

Equationl:___ L+ A = 441 e *ﬂ = 44‘1
EquctionZ:J_ﬂ.* 4= L d A -4
L C=({449-a
<~
Tat4(449-4) = 27u8 C =449 - ¢
T4+ 1790 - 4a = 27y ¢ =4949-324
2a 1Tk =21T0L8% C= |25 children
ta- a1z
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Scenario 2: Jenna is deciding between two cell phone plans. The first plan has a $50 signup fee and costs $20
per month. The second plan has a $40 signup fee and costs $25 per month.

Equation 1: (éf"‘ 50 +20m - Plﬂfﬂl
Equation 2: g“ 40+ 26m - Plan2

a. After how many months will the total costs be the same2 What will the cost be?

50+ 20 = 40+25m =50+20m oR y= 40+26m

- L —3.0m y =50 Fa0(2)  y=4o+15(2)

50=4/6+5m \3;604'40 3:404—50
-40 M _% &
- onth$ ‘j’ 9o y = 90
b. If Jenna has to sign a one {Iecr contract, which plan will be cheaper?
11 months " Plan 1
=50+ 10(12) =40+15(1)
50+ 940 2—':40*7,00
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Scenario 3: The following graph shows the cost for going 10 wo different skofing rinks.

y
Roller Rink Costs
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Scenario 4: The graph below shows the money saved by Lisa and Dan over the summer. -y Mr‘f

a. How long did it take for them to save the sc!tmg amount of

‘3: Br 3;' :Y A:‘;vgzN money? How much money did they both save?
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£ 300 al b. When did Lisa have more money saved?
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